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Which is the following is not a variant for the lower lip line?
q a.	 Flat smile arch;
q b.	 Parallel smile arch; 
q c.	 Flat;
q d.	 Reverse.

Which is the following is not a variant for the free edge of the upper lip mucosa?
q a.	 Horizontal linear smile;
q b.	 Vertical linear smile;
q c.	 Convex;
q d.	 Concave.

Which is not an alternative for anterior smile height?
q a.	 High gingival smile;
q b.	 Medium smile;
q c.	 Small smile;
q d.	 Reduced smile.

Which is not a variant for posterior smile height?
q a.	 High smile;
q b.	 Small smile;
q c.	 Medium smile;
q d.	 Reduced smile.
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